393
05 01 13

0000448259



04 12 23

G )
8s2| | 852| o | o | 0 0
® ) /7 ) RO )
32kn RS 72kn R

km 32km 52km 72km
(5kmx 2 )+(10kmx 3 )=40(km)

86.8% RS 87.1% RO

% 87% 874 87%
( )+ ( )x 100(%)

10% RS 57% RO

" 10% 314 574
( ): (R3  RI12 )x 100(%)

0000448259



RO5 |R06 [R07 [RO8 [R09

A07-001 L=40km [ A B A B | 144
A07-002 [ B BN B B 220
A 4ha

A07-003 [a [ ] | 60 | |
L] o

A12-004 [ B BN B B 428
N | |
L] 2] |

0000448259




0000448259



25X (= EARR 52T 42

1 D 4 F LA RLTELRODDTFLbEL LD
1E D HA R SSEE~SFMEE (54 M) | INPSES | GEENT
[ G |
] ﬁfL S,
FI i
| = U
i | | 1] 1[G
L D sy g | ‘
— i n 11 4
=t o "
TKESZE 3 mﬁa‘i T T [ ; EHFH *Irki f
AOT-001 TRy SRS AR IEHIE e = T I T 1 X
(R2s) T UEE 1 B i = = ﬁ'_@ »
= i o | e l\ )_D __'r‘:Fﬂ
ot b m —hr
TRESZE i U= u LT ~h FRiEEs
A07-002 2KFET/KEEE 1 ¥ = ai ! { =g [ IE)== 1 =1
(23 Tk (FIK) EDOER) ] ‘ Sic \/l"ﬁ =
S = AimiEs BRI Vi
= m . .I Ter - | |
TREEE ] 13 T T s SEARIIN m -
A07-003 RKXIETKEEZE LA ) = s L—mtﬁ ﬂj# D
(RKRKEEREOEE : RS T T 7 = Ei e = S . !
ED”H; - %Lf: ¢ esiadiny 1=l v §
Pyt T St |
HHLE- RHEHE T E; THYTE \ L= ATHEANE Y
A12-003 HEETHAEHEESHILXE = mljgane = | Vi
- ! i L 7 1{ = 2 IS o [
han =l [ 5
= © |
E L8 i T - o b
[ i ¢
; ".(T 0 : f &5~
ﬁ muIL L !
T ‘& Ji — , F -2
= i B = ( ij{l Tl 7] ‘ 1 = I
“ 1) sl l]jﬂﬁ
0 [ A .
[T I e | il 5
() | &
=T ; 5 -
] [T A ¥
[ i ] : 7 LBl
+ L / : : e A THRXIER ——
i \ TAKEEE
5 el g \ TAEEECEAAE)
s S : f BHAR G EEE
= ﬁ_j-T i g E
1 -
u ~ _ .
7 7 AN o =<y
= ™ T~




